Ci&| Z=¢F ™ot
_—e— O d O
o2t 242 A2 y 4. AT v —ay-2=0H 3z —-2y+5=0 9
A
ooz 5, y 5, 98 gt AR BPY o], A a o G20
a8 y =z 9 8=
o a3l A S 19 @ L o L 3 2 @ 3 3 2
thd BT g ) 2E 4 g 3 2 3 2 2
U=A] Fotofet (T y
A2 4ot
5. z AWo] —3 o], y AHo] 5 1 AAS A=
St= dapgha=9] A& stoet
LA y = =22 + 3 oA o 9 o] 3vtE S7HE
o, y o] S7t= otH?
L= 3] _ _ S L Z1x] o ]
@ -3 @ 3 @ —6 @ 6 @ -9 6' L= (2’ 3); ( 43 3) = Z]"]_L_ ‘—Ilj”‘l 7]37]9}
y AHEZ 712} a2 Joto]et
A2t y = ax + 3 O T 7} ohg Dot A2
BPS o, o 9] S TStk
U
\i
3 7. ARy = azx — b y
2 o] 2@ =7} thg 19 ‘
1N . B}, 0 b B
5438210 1¢ 345 = o
_1 T—
-2
3 \ D a>0,b>0 - o
-4 @ a>0,b<0
-5
® a<0,b>0
@ a<0,b<0
® a>0,b=0




8. AARtry=3z+1 A x o ghol —5 oA —1 7k | 12. HEEH 4o A A (-5, 3), (1, 3), (3, a) 7F T
=715 1, (yol 9] 571) ©9 213 ol & W, A5 a O] 7kt A4 0] A A2
(z9] 7ol 719)
D0, z=0 @ 3, 2=3
@ 5 @ 4 ® 3 @ 2 ® 1
® 3, z=-3 @ 3, y=
® 3, y=-3
9. 4AFy=—-20+19 2Z8HE p, yBHE ¢, 7|2
715 ret & o, pgr 9] @27
13. & dA4&dF y =ax + YA
off @ -1 ® -1 5,y = br 9] 257} /®
1 o=t A o, A
Y ©2 a,b2] F ab®] 27
<o 1
A
©
10. 59 2 Y g3 p% y2o2 Sanel REQ
5 8 ®© -2 @ -1 @1 @ 2 ® 4

14. 71€717H 4013 (0, - 8)& Ak QAT0) 27
7} (a, 0) Ak a9 g Totole,

11. th8 % A AR AU b aefme] 429

O y=3x @ y=—-22+3

®y=x+4 @ y=—-4x—-1
1 1

® y=-3r+;




1 _ -
15 48y = —orarte sy 20 enie 92 242

A, B ot Sk o, ofef] 1¥HL By AA Yy = ax 7}
ABOA ©] Yol E o] SR L2 sk Al g 9] Zhe?

Yy
B C y=az
[6)
A r'
1 1
D1 3 ©) 3
1 1
® - .
16. the 27] BolA LAl AL BE 2ok
[17]
7]
Qy=3

Oy=z—-y+1
© y=uxz(z-3)
@ 22+y=22+zx—-2

1
@y=4—-
X

17. 7, y o] W97h A% AAe] Agtolw, A
32+ 5y =3 o 1 Fol A HwEA o] =
(a,3), (4, m) 22 Uerfold w, a +m o

e

o oox
o 1=

o

18. A={(z, y) [(a—2)z—4y =8}, B={(z, y) |y =
—4z+12} °]2L ANB =2 4 W, a 9] L& ot

19. oh& Aol a9
ILolA O ol Lur !
45 Fafolat, 2
-1
_1
2 >
O T
20. Ao TR Al A (-1, 2), (1, 0), (2, n)

g, n o gt& FokeiEt

21. 3571 5% 91 &

7V 7% <1 ’*%%i =
S

OFS.

=g, 8%
St o] Ao g = Z27

8

® 155+ To5Y = T05°

@ 5z +8y=x+y

® Dot —2y=L(zsy)
100" T 1007 T 100 Y

8 7

D 1567 T 100Y = 100 TV
5 8 7

® 100° * 100° = T00?




22. A AM x—2y+5=1, 22+y—2 =5, —z+3y+a=0
ol W o= 47tgdo] RtEolA|A] k& i, a 9 G2

-5fodat,

23.

T AN 242y = 3, az — by = 6 2 W] F59

e W, a+0b 9 gE FokeiEt

2 Qags y = 1o+ 9 DAL 5 F3 WGE

,y =0 W= e B e 2 o, AAOB 9

25 aaate y = f@) A f(z) = %x L 5atT @ .
F(=3) 4+ f(—1) + £(0) ©] FHS Fatolal,

26. = AN AL PHhE2—
y =09 Jgjzojtt, ABOC ) b
o] Wol7} 6olal 4 C(6, 0)
o off, AAOB 9] Ho|& 5t
SE

C@6, 0 ©

/|O

27.

=Y

Fotofet,

VAR

28. A (2,4) 5 AL, ARG y = 32 — 19 ez

@ 1 ® 3




30. At yza:c—&—%-q]lﬂﬂi—l_%xggl-o]ggg_

AN
T
o, y o] gto] 1 7HE Attt o] Jejzrt

)& A b o kg Fopolek

ne
@

o\
N
N
ok

/N
S
W =

31. A&y =ax 4+ 09

32. 3 AR Fy=220-39 YR gure 27

©




